CP230 — Problem Set 2

Problem 1.43 [H&H]

Exercise 1.43 How many bytes are in a 32-bit word? How many nibbles are in
the word?

Problem 1.44 [H&H]

Exercise 1.44 How many bytes are in a 64-bit word?

Problem 2.1 [H&H]

Exercise 2.1 Write a Boolean equation in sum-of-products canonical form for
each of the truth tables in Figure 2.80.
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Figure 2.80
Problem 2.3 [H&H]

Exercise 2.3 Write a Boolean equation in product-of-sums canonical form for the
truth tables in Figure 2.80.

Problem 2.5 [H&H]

Exercise 2.5 Minimize each of the Boolean equations from Exercise 2.1.

Problem 2.13 [H&H]

Exercise 2.13 Simplify the following Boolean equations using Boolean theorems.
Check for correctness using a truth table or K-map.

(a) Y=AC+ABC
(b)
(c)

B+ABC+(A+C)
CD+ABC+ABCD+ABD+ABCD+BCD+A
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